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 SUBJECT : ENGLISH 

Read the following singular/plural sentences and choose the correct singular/plural 

sentences of the following: 

1. That dog is very ferocious.  

a. That dogs is very ferocious.  

b. These dogs is very ferocious.  

c. Those dogs are very ferocious.  

d. That’s dogs are very ferocious.  

2. The child is not yet able to walk.  

a. The childs are not yet able to walk.  

b. The children are not yet able to walk.  

c. Those children are not yet able to walk.  

d. The children is not yet able to walk.  

3. These oxen are strong enough to plough four fields.  

a. This ox is strong enough to plough a field.  

b. This ox are strong enough to plough a fields.  

c. This ox being strong enough to plough the field.  

d. These ox is strong enough to plough the fields.  

4. The tomato in the basket has been used up.  

a. The tomato in the baskets has been used up.  

b. The tomatoes in the baskets have been used up.  

c. Those tomato in the baskets have been used up.  

d. The tomatoes in the basket has been used up.  

5. All my friends are going for the movie.  

a. One of my friend are going for the movie.  

b. My one friends is going for the movie.  

c. None of my friends is going for the movie.  

d. One of my friend is going for the movie.  

SUBJECT : MATHEMATICS  

1. Which of the following number is divisible by 4?  

a) 2315613 b) 3452763   c) 5678524   d) 234561  



2. Which of the following number is divisible by 8?  

a) 214537    b) 567843   c) 6543879    d)3256168  

3. Which of the following number is divisible by 12?  

 a) 432171    b) 675439    c) 1234549      d) 12348  

4. Which of the following is divisible by 9?  

a)2349009   b) 6708001   c) 4900021   d) 870050  

5. Which of the following is divisible by 11?  

a) 153109     b) 271231    c) 97082         d) 865730   

 

SUBJECT: PHYSICS    

Multiple Choice Questions (Select correct one): 

1. 1km is equal to; 

a. 10mm 

b. 102 mm 

c. 104 mm 

d. 106 mm 

2. 1m is equal to; 

a. 10km 

b. 10-1km 

c. 10-2km 

d. 10-3km. 

3. 10mm is equal to; 

a. 1cm 

b. 1dm 

c. 1m 

d. 1hm. 

4. 360s is equal to; 

a. 60min 

b. 6h 

c. 10h 

d. 10min. 

5. An object may have; 

a. Only one type of motion 

b. Only two types of motion 

c. No type of motion 

d. All above is correct. 

 



SUBJECT : CHEMISTRY   

Multiple Choice Question (MCQ)  

1. All the materials can be divided in to two groups on the basis of their ………. or softness.   

(a) Lightness    

(b) Heaviness  

(c) Hardness  

(d) Strongness  

  

2. Those materials which cannot be easily compressed, cut, bent or scratched are called  

……………. materials.  

(a) Soft  

(b) Light    

(c) Lustre  

(d) Hard  

  

3. Stone, Brick, and Iron are ……………… materials.  

(a) Soft   

(b) Hard  

(c) Light  

(d) Rough  

  

4. Which one of the following group all are hard materials?  

(a) Cotton, Sponge  

(b) Iron, Clay  

(c) Feathers, Steel  

(d) Stone, Bones  

  

5. Which one of the following  group all are soft materials?  

(a) Diamond, Teeth  

(b) Brick, Bones  

(c) Skin, Tomato    

(d) Glass, Wood 

 

 



 

 SUBJECT: BIOLOGY  

Multiple choice questions 

1. Which of the following is not an example of cereals?  

A.) Wheat 

B.) Rice 

C.) Maize 

D.) Potato 

2. Which of the following is common source of fat?  

A) Ground nut  

B) Soya bean 

C) Water melon 

D) All of the above 

3. Glucose is the simplest form of  

A) Sugar 

B) Starch 

C) Protein 

D) Fat 

4. Which of the following has no nutritive value?  

A) Vitamins 

B) Roughage 

C) Proteins 

D) Fats 

5. Bones and teeth remains healthy with consumption of  

A) Iron 

B) Calcium  

C) Sulphur  

D) All of these  

 

 

 SUBJECT: S. S. T  

Q. Multiple choice questions[MCQ]  

1. The architecture of the South- East Asia is influenced by    

a. Mughal era                     b. Colonial era                        c. Buddhism              d. Jainism  

2.____________ is the root of Indo- Aryan languages.  



a. Hindi                              b. Sanskrit                             c. Tamil                  d. Persian  

3.________ is one of the oldest surviving theatre traditions of the world.  

a. Mohiniattam                   b. Kathakali                         c.   Kutiyattam               d. Odissi  

4. Idul-Fitr , Diwali and Christmas are _________festivals  

a. Cultural                         b. Religious                          c. National              d. Secular  

5. Thepla a popular food of___________.  

a. Rajasthan                    b. Maharashtra                     c. Gujarat            d. Haryana  

  

 

SUBJECT: COMPUTER 

Multiple choice questions (select the correct one):- 

   

1. Which of the following features allows us to make the opened Windows 

transparent to make the desktop visible? 

a) Aero peek  

b) Taskbar        

c) Jump list    

d) None of these 

 

2. Can we open two windows side by side at a time? 

a) Yes    

b) No        

c) Both of these      

d) None of these 

 

3. A Sound Card can also refer as _______________. 

a) Expansion card   

b) Integrated Circuit         

c) Both of these              

d) None of these 

 

4. Disk ____________ is used for reading errors. 

a) Cleanup      

b) Scanner                    

c) Defragmenter     

d) None of these 

 

5. Windows _________ softwares allow a user to exchange e-mails and browse the 

internet. 



a) Media Player   

b) Mobile        

c) Search Tool      

d) None of these 
 

 



                               ह िंदी असाइनमेंट 

कक्षा 6                                                                   हदनािंक 7-5-2020 

नीचे हदए गए ब ुविकल्पी प्रश्नों का स ी उत्तर चुनकर लिखिए । 

प्रश्न 1) ‘  ार की जीत ‘ पाठ के िेिक कौन  ैं ? 

क)  ररििंश राय बच्चन         ि) सुदशशन         ग) रामाज्ञा द्वििेदी        घ) भारतेंद ु ररश्चिंद्र 

प्रश्न 2) बाबा भारती घोडे पर चढ़कर ककतना मीि चक्कर िगाते थे ? 

क) आठ-दस मीि            ि) पााँच-सात मीि      ग) तीन-चार मीि         घ) सात-आठ मीि 

प्रश्न 3) िडग लसिं  कौन था ? 

क) साधु               ि) सेना             ग) डाकू               घ) रक्षक 

प्रश्न 4) जो सिंज्ञा शब्द पूरी जातत का बोध कराता  ै, उसे क्या क ते  ैं ? 

क) व्यक्क्तिाचक सिंज्ञा     ि) भाििाचक सिंज्ञा        ग) जाततिाचक सिंज्ञा     घ) समू िाचक सिंज्ञा 

प्रश्न 5 ) इनमें से भाििाचक सिंज्ञा कौन सा  ै ? 

क) वपटाई            ि) उदास           ग) मोटा           घ) पढ़ाई 
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           विषय  - संस्कृत।          कक्षा – छः 

     विकल्पों से चुनकर उत्तर लिखिए । 

प्रश्न 1)नपृः का सही पयाायिाची शब्द हैं । 

क) नरेशः 
ि) रमेशः 
ग) सुरेशः 
घ) महेशः 

प्रश्न 2) जिजम ्ककसका पयाायिाची. है । 

क) जिम ्

ि) फिम ्

ग) कमिम ्

घ) नीरम ्

प्रश्न 3 )गहृम ् का पयाायिाची नहीं है । 

क) गेहम ्

ि) सदनम ्

ग) आियम ्

घ) जािम ्

प्रश्न 4) उद्यानम ्का सही पयााय शब्द है । 

क) उपिनम ्

ि) गेहम ्

ग) विद्याियम ्

घ) िनम ्

प्रश्न 5) अश्िः का पयाायिाची नहीं है। 

क) हयः 
ि) घोटः 

     ग) कवपः 

          ि) घोटकः 



 

 

 

                         

      

 

 

 

 


